0ooo
OO000OO0O0OD0OO0ODODODODODOO (Advanced Topic)

gboobgooboboboboobooboooobooboboooboboobon
ubbooboaaoo

0000000 f(«)0D00O0O Px)ODODODODOODODOODODODODOD fODODODDDOO
@b 000000000000 OOOOOOOODOOOOOOODO

I1F = Pllso = max [/(z) = P(a) (1)

000000000 P(x) 0000 000000000000 (1)00000000O0O
000000000000000000 [e,b0000000000O Cle,b)0000 nO
ooooooo P, 0000fgP,0f€eCle,b000000DOOOOOOOOODODO
gboboboobobobbobobobobo

llglloo = sup |g(x)] = max [g(z)[, g€ Cla,] (2)
z€la,b| z€[a,b]
goooooooooooooo
goooooad

E, = En(f) = Plél?f;n Hf_PHoo (3)

ocooopP=PepP,0 f0n000000DOO0O0ODOODOOODOOOODOODOO
00ooo0oU0oo0oU0oo0o0oooOoOoooOooooo0oO 3)0P,O00O0ODO
ubboobuoobbooboobbooboobon

e 00000 UDDDDDOO (DD 3CDODO 6)0

e 00U (1)0D0O0UO00OODDLDOULD z000LDOLUOOODODOOO (OO 5O

0000000 Pz) e P, 00n+1000000 (ag, ay,...,an) =a € R*1 0O
000

P(x) = Zajxj (4)
j=0

000000000P,0 R 000010100 ¢:P—al000000P,00
00 (2)000000 |l 0000 “00”000000000R™ 0000000
Euclid0O || - |,0000000000000OO 00000000000 000OO
oooooo

00 1: 00000000 (Pa,|| - [|le)d (R4 - ) 000000000

[00]eO010100000000000000000000
HoOo A>000000 |le(P)ll2 < A||P||co,
()00 B>000000 |l¢~Y(a)||lw < Bllall2



0000000(G) 00000000 [¢,b)000000n+1000 2 (k=1,...,n+1)
0000000e000 10000

Zajxkj:P(a:k) (k:1,...,n+1)
j=0

00000000a; =YX apP(x) (j=0,1,...,n) 00000000000

=0 k=1

n n+l 1/2
WMPﬂszaMfS(EXE:kaV) [1P]oo-

(i) 00000

z€la,b]

1/2
o™ (@)oo = Jnax IZ%Q«’]! < max (szﬂ) lall2.

oo 2P, 00000000000000O000OO

0o0]{P®}, 0P, 000000000000010000{eP*®)}0R0000
00000000 0BolzanoWeierstrass 0 00000000000 {oP®)}, 0000
000000 e eR™ 000000000 10000{P™},0 P*=y Ya*)eP,0
0oooo(@o)

0000¢:P,—-R" 000000000000 O00O0DODOOOOO

00 3: 0000000 f0000.-,000000 P*O000O0O00000OOOOO
000 (3)00000 P*eP, 000000

0O0]joo00o0o00o000

Ei(f) < |If =PVl < Bul(f) +1/v  (v=12,--)
0000000000 {PW}e, 0000000000

1P loe < [1f = PWlloo + [ flloo < Enlf) + 1+ [|£loo

DOooooo{P®}000000000000000 20000{P®}000ooa {PH},
0000000000 P*O000 E(f)=|f-P*l-0000(00)

oooooobooooboog PepP, 0000

En(f) <IIf = Pllo (5)



000000P=P0000002z=¢00000 E,(f) =|f(¢)—P(¢)| 0000
0000000000400000000000 POOOOOOE,(f)000O00OO
00000000000000000 (005 000000000000

00 [¢,b) 000000000 (@<) & <& <---<&1 (<) 0000 f(&) — P&)
(i=0,1,...,r—1)0000000000000¢ = (&,&,...,54-1)0 ((f,P)O000
0)00r0000000000000000 000000000

[1]

(P) = E.(f,P)
= {£= (&, &) ]alH <& <o <& b,
(f(&) = P(&)) - (f(&i+1) = P(&i+1)) <0 (i=0,1,...,7=2)}  (6)

000 (E(P)0000D0000O0D)D0000

(P&) = (. &) = min [f(&)— P(&)] (7)

0<i<r—

00000000000000000
00 4: PeP,0¢€E,o(f,P) 000

O(f, P,§) < En(f). (8)

00]®O000000000000|f-Plle<®PE) 0000 PeP, 000000
00 P-P=(P-f)+(f-P)0 0000000 P—f00000000000RA+2
000000000000000000000000P-POn+1000000000
P-POn0000000000 P=POOO0||f—Plle<®P,&) <||f—PlloD
0oooo(@o)

0000 |f(z)— P(«)|00000000000000

1£(&) = PO = If = Pl (9)

00000 2=¢£0000 (deviation point)D f(¢) — P() 0000000 é¢00000
000000 &= (&,4,...,64-1) 000 00000000000000000000
000000000000000000000000000000000000000

00 5(0000): P*e P,0000000000000000r+20000000
€= (£,61,...,6nt1) € Ense(f,P)000000OOOOOOOOO0O

00](0D00)¢eEP)0000000040 (5)000 ®(P*¢) < E(f) <||f —
P*|0000600000 (9)00000008(P*,¢) =||f—P*|l0000000E,(f) =
1f = Pl
(000)0000000 & (>¢) 00000000 s, (=+1)0000& 00000
00000000 [¢,b|00000000000000 0004 0000000000
00 ¢O000 (40 ¢&000000000000&400000000000)0000
i=0,1,---000000000 (4,00 &000000000000000000;0



0000000000000 &, 00000000000 [¢,644)000000000
¢oooo

000000+i=m<n0000000000000000000000C0O0COOOO
0000000 (a<) &< <& <& < <& (KH)0000000 (m>0)0f—P*
00000000000000000¢.,<t;<&0000+00000 (i=1,...,m)0
0000t = adtyyr = b0

m
K@) =s[[(ti—2) (O00m=00000 K(z) = so)
i=1
O0000<i<mO00000 (t,t;1)0 K(x)0OODODOODOOOO 000000
O0000 00 A;>00000000000 (#,t41) 00
—En + Ai < (=1)'so(f(x) — P*(2)) < B,

goooooooon
0<)\<021§nmAi/HKHOO

0000 AODOO0ODO00 z€(e,b) 0000
~Ey < (=1)'s0(f(z) — P*(z) = AK(2)) < By

DO0000||f - (P*+AK)||ee < E, 00ODOO0OP* +)MK e P, 0000000 (5)0
Ooooo(@o)

00 6: J0O00oooOo PrepP,00000000O0O
00 P;,PfeP,0000000000000000
E.(f) < Hff%(PHP;)HOOs§<\|ffPf‘||oo+|\ffP;Hoo>=En(f)
0000 ((Pf+py)/200000000000000000
F&) = (Pr(&) + P5(8))/2 = (-1)'6
(000 8| =E.(f) 0000000 {&¥E, 000000000
f&) = Pi(&) = f(&) - P(&) = (=16 (i=0,1,...,n+1)

000000000000 PfOP;0R+20000000000000P;F =P;0(00)
O
00000000000000000

00 7 (WeierstrassJ O 0): f e Cla,b) DOO lim E.(f)y=00000000000
n—oo
gooooobobobobbbotbodoououooooo

0000000,0000000000000,§8.1, 0000, 1994.
000 (2013-08-05)



